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Reasoning Mega Quiz for SSC CHSL (Solutions)

$1. Ans.(b)
Sol.
According to value of position
E %2
] N T B =« P B F D
L | L |
x2 x?
S2. Ans.(b)
Sol.7:(7)2+7::9:(9)*+9
$3. Ans.(c)
Sol. Successive order of Alkanes.
S4. Ans.(b)
Sol.

J|O|C|K| E|Y|S|T|R[A[M
@[ *) 2= =1%/]=<]|+

] A M ME R
@ < + + 7/

S5. Ans.(b)

Sol.
Column:1 36+57=93

Column: 2 42+ 157=199
Column: 3 17 +944 =951

S6. Ans.(c) . &
12 Months Sub t
Sol. 144 -+ 16 x4 -2 +8=42 4 s Subscription

S$7. Ans.(b)
Sol.abbccd/abbccd

$8. Ans.(b) MAHA PACK

53(11.9 +1422=20 Live Class, Video Course,

~ Test Series, eBooks
3+4+6+9=22
5+5+5+5=20 ore ;
6+7+3+4=20 B|I|ngual(w1th eBooks)
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S9. Ans.(b)

Sol. Sequence of the Layers of earth’s atmosphere.

$10. Ans.(b)
Sol.

A B C

Vol

Z Y X W
$11. Ans.(c)

Sol. Calendar shows date
Index shows contents.

$12. Ans.(a)

Sol.

2+4+3=9
8+1+9=18=1+8=9
1+6+3=10=1+0=1
4+8+7=19=1+9=10=1+0=1

$13. Ans.(c)
Sol. +2, +3, +4 series, except NPSV.

$14. Ans.(a)
Sol.

1. Decollets
3. Decorous
2. Desecrate

4, Desipicable
5. Destitute

$15. Ans.(d)

Sol.
1357, 3085, 5282, 8026, 11401

+1728 +2197 +2744 +3375

| | y 4

12* 13? 14* 153

$16. Ans.(b)

Sol.

Let present age of A. B and C be A, B and C respectively.
ATQ,

A=2B

B+8 =4C

C-9=5h=(C=14

Therefore, B =48 and A = 96 years

SSC CHSL
TIER-I

Memory Based Package

+ Based on Papers of
17" Mar. 2020

¢ 1 Full Length Mock

Bilingual

2 | www.bankersadda.com | www.sscadda.com

www.careerpower.in | www.adda247.com


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.adda247.com/
https://www.adda247.com/product-testseries/4760/ssc-chsl-tier-i-memory-based-2020-online-test-series

$17. Ans.(d)
Sol. ‘Greater’ ; there is no double ‘E’ in the given word.

$18. Ans.(c)

Sol.
S4+162-18x12+6
=54+162=18+12-6

1
::~§>-: 18+12-6

=6+12-6
=12

$19. Ans.(d)

Sol.

(4x3)+(2x5)=22
(1x2)+(7%6)=44
(8x7)+(5%2)=66

$20. Ans.(c)
Sol.

Both conclusion follow.

$21. Ans.(d)

$22. Ans.(d)
Sol.

According to the value of position
(3) (13) (16) (16)(13) (30r29)
C M—P P M—C

) Months Subscription

/4

$23. Ans.(a)
Sol. Except Banyan other three belong to the family pinaceae.

S24. Ans.(a) ALL EXAM

Sol. BANK | SSC | TEACHING & OTHERS
(3)*—=81
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$25. Ans.(b)

Sol.
15 30 90 360 1800

I |

|
X2 x3 x5

$26. Ans.(b)
Sol.

Stones

$27. Ans.(c)
Sol.

$28. Ans.(b)

Sol.

+5 +5 +5 +5

m m i
; XC H M
Il I
+5 +3 +5

D
L

—
= L

$29. Ans.(c)

Sol.

Let

A - Age of Arjun

D - Age of Arjun’s Daughter
S - Age of Arjun’s Scn
A+D=48

A+D+5

TZZS

A+D+5=75
48 +5§=75 (As A+ D=48) .
§=27 12 Months Subscription

530. Ans. () SSC CHSL

Sol. Fanatic — Fantasy — Fascinate — Favourite
KA MAHA PACK
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